Solutions to Homework 9
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We can predict G, after doing row operation , G, will be )

=G, =(n-Yx (- ><|In_l| =(n=-Dx(=D"*
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A permutation matrix can be considered as an identity matrix after several row exchangings.
codetP=1,-1

(b)
If P is a projection matrix
=P*=P
= (det P)> =det P
=detP=0,1
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AT =-A
— det(A") = det(- A)
= det A=—det A
= det A=0
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Use the block determinants
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= Area = «/det(ATA) =62

(http://ccjou.twbbs.org/blog/?p=7020)
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= Area = %«/det(ATA) =23

(http://ccjou.twbbs.org/blog/?p=7020)
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We know all cofactors of A
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= Let a matrix C =
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0000
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According to the property of cofactor , we can get AC' = (det A)I
= (det A)"AC" =1
= A" =(det A)"'C’

Now we want to find det A
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= A= (c)?

-.we can find A™ then inverse it to get A



